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1. (a) r : 7x + 12y − 1 = 0 r :

{
x = 1− 2t
y = −1

2
+ 7

6
t

(b) r : 2x + y − 1 = 0 r :

{
x = 1− s
y = −1 + 2s

(c) Le due rette sono incidenti e il punto di intersezione è E = (11
17

,− 5
17

).

(d) L’equazione del fascio è (7 + 2k)x + (12 + k)y − (1 + k) = 0.

r′′ : 140x + 121y − 55 = 0 r′′ :

{
x = 11

17
− 121u

y = − 5
17

+ 140u

2. (a) r :


x = 1− t
y = 1

1
t

z = −1 + 2t
r :

{
x + 2y − 1 = 0
4y − z − 1 = 0

(b) r′ :


x = −1 + 1

2
s

y = 2− 2s
z = 1

r′ :

{
4x + y + 2 = 0
z − 1 = 0

(c) r e r′ sono sghembe.

(d) α : x− 2y + z = 0 r :


x = 1− t
y = 1 + 1

2
t + s

z = 1 + 2t + 2s

(e) Il punto di intersezione è E = (−5
9
, 2

9
, 1).

(f) β : 4x + y + 4z = 0

(g) s :


x = −t
y = 0
z = t

s :

{
x− 2y + z = 0
4x + y + 4z = 0

γ : y = 0

1


